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Note : This paper is of thirty (30) marks containing three
(3) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section—-A / Gls—h
(Long Answer Type Questions) / (€T IR 7%)
Note : Section ‘A’ contains four (04) long answer type

questions of seven and half (7%) marks each.

Learners are required to answer two (02) questions
only.
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Describe in detail the C5 cycle of carbon assimilation.
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What are mineral nutrients ? What are the criteria for
the essentiality of elements ? Describe the deficiency
symptoms caused by the deficiency of calcium,
molybdenum and magnesium.
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Describe Krebs’ cycle in detail.
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What are proteins ? Describe the different structural
levels of proteins.
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Section-B / Yls—g

(Short Answer Type Questions) / (?rrgr SN %)

Note : Section ‘B’ contains eight (08) short answer type

qrc :

1.
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questions of two and half (2%) marks each. Learners
are required to answer four (04) questions only.
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What do you mean by Kranz Anatomy ? Name the
plants in which this type of anatomy is found.
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Explain the conditions necessary for seed germination
and metabolic changes that occur during seed
germination.
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Describe physiological effects of auxins.
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Differentiate between oxidative phosphorylation and
photophosphorylation.
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Explain mass flow hypothesis of Miinch with the help
of diagram.
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List five nitrogen fixing organisms.
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Differentiate between active absorption and passive
absorption of water.
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Explain transpiration and guttation.
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Section-C / Yvs—TT

(Objective Type Questions) / (A& T)

Note : Section ‘C’ contains ten (10) objective type
questions of half (%) mark each. All the questions of
this section are compulsory.
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Fill in the blanks :
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1. The process of pulling water inside the cell against
osmotic concentration by using metabolic energy is
called .............
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2. During plasmolysis the concentration of cell sap ........ :
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30 e element is related with the photolysis of water.
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4. Chlorophyll molecule contains an atom of ............
metal.
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5. Glycolysis occurs in the .............. of cells.
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Indicate whether the following statements are True or False.
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6.

10.

At boiling temperature an enzyme is denatured.
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Bending of growing shoot towards light is called
photonasty.
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Carbon dioxide is the source from which oxygen is
released during photosynthesis.
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3 ATP are formed from one NADH; when it enters in
ETS.
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Most of the plants absorb nitrogen in the nitrate form.
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